MATHS

BOOKS - ICSE

DISTANCE FORMULA

1. Find the distance between the points (3,6)

and (0,2)

[ o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qqcf5qadVTqW

2. Find the distance between the origin and
the point:

(-12,-5)

o Watch Video Solution

3. Find the distance between the origin and
the point:

(15,-8)

o Watch Video Solution



https://dl.doubtnut.com/l/_qqcf5qadVTqW
https://dl.doubtnut.com/l/_ncjGUeEblMf2
https://dl.doubtnut.com/l/_lDFT7UyoxAkY

4. Find the co-ordinates of points on the x-axis
which are at a distance of 5 units from the

points (6, -3).

o Watch Video Solution

5.Km is a straight line of 13 units. If K has the
co-ordinates (2,5) and M has the co-ordinates

(x,-7), find the values of x.

o Watch Video Solution



https://dl.doubtnut.com/l/_lDFT7UyoxAkY
https://dl.doubtnut.com/l/_EUNNjoBUuP3F
https://dl.doubtnut.com/l/_Euz2ZyNPmDYp

6. Which point on the y-axis is equidstant from

the points (12, 3) and (-5, 10)

° Watch Video Solution

7. Use the distance formula to show that the

points A(1,-1), B (6,4) and C(4,2) are colinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_W0cPwWaOK6pD
https://dl.doubtnut.com/l/_RzHQyp2UuKN6

8. Show that the points A(8,3) , B(0,9) and C(14,
11) are the verties of an isosceles right - angled

triangle.

o Watch Video Solution

9. Find thte area of a circle, whose centre is (5,

-3) and which passes through the point (-7, 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_f0siKuEjUSnE
https://dl.doubtnut.com/l/_lyTZlNC1MQQH

10. Find the point on the x-axis whose
distances from the points A(7, 6) and B(-3, 4)

are in the ratio 1: 2.

o Watch Video Solution

11. Find the co-ordinates of the circumecentre
of the triangle ABC, whose vertices A, B and C

are (4, 6), (0,4) and (6,2) respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_G6QMi5AWkqdd
https://dl.doubtnut.com/l/_7Uy2bg47S3ZR

1. Find the distance between the following
paris of points :

(-3, 6) and (2, -6)

° Watch Video Solution

1. Find the distance between the following

paris of points :


https://dl.doubtnut.com/l/_llsMbPR4fbQJ
https://dl.doubtnut.com/l/_QKYfaO40Xate

(-a,-b) and (a,b)

o Watch Video Solution

1. Find the distance between the following

paris of points :

3 ) g (L 2
5 ) 5’75

° Watch Video Solution



https://dl.doubtnut.com/l/_QKYfaO40Xate
https://dl.doubtnut.com/l/_R3I4CFcV2gto

1. Find the distance between the following

paris of points :

(v3+1,1) and (0, 4/3)

° Watch Video Solution

1. Find the distance between the origin and

the point:


https://dl.doubtnut.com/l/_n0jlcf1FSPz5
https://dl.doubtnut.com/l/_rHo1aoSBfFIc

(-8, 6)

o Watch Video Solution

1. Find the distance between the origin and

the point :

(-5,12)

o Watch Video Solution



https://dl.doubtnut.com/l/_rHo1aoSBfFIc
https://dl.doubtnut.com/l/_0WrhIjZtzIFM

1. Find the distance between the origin and
the point:

(8,-15)

° Watch Video Solution

1. The distance betweent the points (3,1) and

(Ox) is 5. Find x.


https://dl.doubtnut.com/l/_vAWD8UGiat2S
https://dl.doubtnut.com/l/_djLtDLmgcFrv

° Watch Video Solution

1. Find the co-rodinates of points of the x-axis
which are at a distance of 17 units from the

point (11, -8)

° Watch Video Solution



https://dl.doubtnut.com/l/_djLtDLmgcFrv
https://dl.doubtnut.com/l/_lNWxTj9HpG4h
https://dl.doubtnut.com/l/_I9uWEhmEYoaq

1. Find the co-ordinates of the points on the y-
axis, which are at a distance of 10 units from

the point (-8, 4)

o Watch Video Solution

1. A point A is at a distance of 4/10 unit from

the point (4,3). Find the co-ordinates of the

point A, if its ordinate is twice its abscissa.

l ﬂ Watch Video Solution l


https://dl.doubtnut.com/l/_I9uWEhmEYoaq
https://dl.doubtnut.com/l/_EQjqASDhxEjN

1. A point P (2, -1) is equidistant from the

points (a,7) and (-3,a). Find a.

O Watch Video Solution



https://dl.doubtnut.com/l/_EQjqASDhxEjN
https://dl.doubtnut.com/l/_vihczdoSlmYA

1. What point on the x-axis is equidistant from

the points (7,6) and (-3,4)?

o Watch Video Solution

1. Find a point on the y-axis which is

equidistant from the point (5,2) and (-4,3).

° Watch Video Solution



https://dl.doubtnut.com/l/_qSfBmiEeAynM
https://dl.doubtnut.com/l/_xpr9lolXamqg

1. A point P lies on the x-axis and another point
Q lies on the y-axis.

Write the ordinate of point P.

° Watch Video Solution

1. A point P lies on the x-axis and another point

Q lies on the y-axis.


https://dl.doubtnut.com/l/_Mzgra37FYWWQ
https://dl.doubtnut.com/l/_uGjfrJxtN3mN

Write the abscissa of point Q.

o Watch Video Solution

2. Show that the points P (0, 5), Q(5, 10) and

R(6, 3) are the vertices of an isosecles triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_uGjfrJxtN3mN
https://dl.doubtnut.com/l/_myv42lIUUlRP

1. A point P lies on the x-axis and another point
Q lies on the y-axis.

If the abscissa of point P is - 12 and the
ordinate of point Q is - 16, calculate the length

of line segment PQ.

o Watch Video Solution

2. Prove that the points P (0,-4), Q(6,2) R(3,5)
and S (-3, -1) are the vertices of a rectangularj

PORS.

| & I


https://dl.doubtnut.com/l/_UNhx7M0P66Q5
https://dl.doubtnut.com/l/_D5aA2fIHswP5

| ¥ Watch Video Solution |

1. Prove that the points A(1, -3), B (-3, 0) and

C(4, 1) are the vertices of an isosceles right-

angled triangle. Find the area of the triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_D5aA2fIHswP5
https://dl.doubtnut.com/l/_7zmll7J3Htwr

1. Show that the points A (5, 6), B(1,5), C(2, 1)

and D(6, 2) are the vertices of a square ABCD.

o Watch Video Solution

1. Show that the points
(—3,2),(—5, —5),(2, —3)and(4,4) are
the vertices of a rhombus. Find the area of this

rhombus.

| e |


https://dl.doubtnut.com/l/_zMobhJT7199Z
https://dl.doubtnut.com/l/_1QcniDFPsKzY

& Wwatch Video Solution ]

1. Points A (-3, -2), B (-6, a), C (-3, -4) and D(O, -1)

are thte vertices of quadrilateral ABCD, find a if

'a' is negative and AB = CD

O Watch Video Solution



https://dl.doubtnut.com/l/_1QcniDFPsKzY
https://dl.doubtnut.com/l/_1764HqRXPuEn
https://dl.doubtnut.com/l/_bUjAt1MjC8JX

1. The vertices of a triangle are (5,1), (11,1) and
(11,9). Find the co-ordinates of the

circumcentre of the triangle.

° Watch Video Solution

1. Given A=(3,1) and B = (0, y-1), Find y if AB = 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_bUjAt1MjC8JX
https://dl.doubtnut.com/l/_lPuclcKBR1xI

1. Given A= (x + 2,-2) and B = (11, 6). Find x if AB

=17.

o Watch Video Solution

1. The centre of a circle is (2x - 1, 3x + 1). Find x

if the circle passes through (-3, 1) and the

length of diameter is 20 unit.


https://dl.doubtnut.com/l/_idFbVu9vqXJ2
https://dl.doubtnut.com/l/_3llrBXNxXCYW

° Watch Video Solution

1. The length of line PQ is 10 units and the co-
ordinates of P are (2, -3), calculate the co-

ordinates of point Q, if its absicissa is 10.

° Watch Video Solution



https://dl.doubtnut.com/l/_3llrBXNxXCYW
https://dl.doubtnut.com/l/_yBy97kfr6QJb
https://dl.doubtnut.com/l/_QjTp9Uc1y0jR

1. Points P (2, 7) is the centre of a circle with
radius 13 unit, PT is perpendicular to chord AB
and T = (-2, -4), Calculate the length of,

e

(i) AT

(i1) AB.

o Watch Video Solution



https://dl.doubtnut.com/l/_QjTp9Uc1y0jR

1. Calculate the distance between the points
P(2,2) and Q(5,4) correct to three significant

figures.

o Watch Video Solution

1. Calculate the distance between A (7,3) and B

on the x-axis whose abscissa is 11.

o Watch Video Solution



https://dl.doubtnut.com/l/_XQDAIyho6PIh
https://dl.doubtnut.com/l/_MM7E8UDIeotW

1. Calculate the distance between A(5, -3) and B

on the y-axis whose ordiate is 9.

° Watch Video Solution



https://dl.doubtnut.com/l/_MM7E8UDIeotW
https://dl.doubtnut.com/l/_h3foYmdAgOw8

1. Find the point on y-axis whose distances
from the points A(6, 7) and B (4, 3) are in the

ratio 1: 2.

o Watch Video Solution

1. The distance of point P(x, y) from the points

A(1, -3) and B(-2, 2) are in the ratio 2 : 3. Show


https://dl.doubtnut.com/l/_pQlA2rOqTLAn
https://dl.doubtnut.com/l/_FuoAlnSVu9Bl

that

5z2 + 5y? — 34z + 70y + 58 = 0.

° Watch Video Solution

1. The points A(3,0) , B (a,-2) and C(4, -1) are the

vertices of triangle ABC right angled at vertex

A. Find the value of a.

° Watch Video Solution



https://dl.doubtnut.com/l/_FuoAlnSVu9Bl
https://dl.doubtnut.com/l/_Icuvk8PJbfeC




